
N = 2581
2581 circles in a circle

radius =   0.018445829366
ratio  =  54.212796842238

density  = 0.878181690790
contacts = 4734

 E.SPECHT
31-MAY-2014

N = 2582
2582 circles in a circle

radius =   0.018447264136
ratio  =  54.208580342430

density  = 0.878658612670
contacts = 4387

 E.SPECHT
31-MAY-2014

N = 2583
2583 circles in a circle

radius =   0.018443886515
ratio  =  54.218507535174

density  = 0.878677061292
contacts = 4082

 E.SPECHT
31-MAY-2014

N = 2584
2584 circles in a circle

radius =   0.018441691385
ratio  =  54.224961209543

density  = 0.878808015282
contacts = 4341

 E.SPECHT
31-MAY-2014

N = 2585
2585 circles in a circle

radius =   0.018437602231
ratio  =  54.236987406201

density  = 0.878758280028
contacts = 4396

 E.SPECHT
31-MAY-2014

N = 2586
2586 circles in a circle

radius =   0.018436198646
ratio  =  54.241116578238

density  = 0.878964385421
contacts = 3659

 E.SPECHT
31-MAY-2014

N = 2587
2587 circles in a circle

radius =   0.018434797276
ratio  =  54.245239860139

density  = 0.879170608804
contacts = 4591

 E.SPECHT
10-JUN-2014

N = 2588
2588 circles in a circle

radius =   0.018429727140
ratio  =  54.260163073802

density  = 0.879026732234
contacts = 4559

 E.SPECHT
31-MAY-2014

N = 2589
2589 circles in a circle

radius =   0.018420802179
ratio  =  54.286452362898

density  = 0.878514892145
contacts = 4418

 E.SPECHT
31-MAY-2014

N = 2590
2590 circles in a circle

radius =   0.018407361155
ratio  =  54.326092238770

density  = 0.877572146786
contacts = 4641

 E.SPECHT
31-MAY-2014

N = 2591
2591 circles in a circle

radius =   0.018407464642
ratio  =  54.325786818666

density  = 0.877920849006
contacts = 4604

 E.SPECHT
31-MAY-2014

N = 2592
2592 circles in a circle

radius =   0.018396546984
ratio  =  54.358027127841

density  = 0.877218182876
contacts = 4693

 E.SPECHT
31-MAY-2014


